Demonstration 6A – Beats in hearing

Beats are caused by interference between two sound waves. This demonstration gives links to 2 websites at which beating is shown and explained.

Beating occurs when two sound waves differ in frequency, so that their peaks and troughs coincide at regular intervals.  The beat frequency is the difference between the two frequencies, so that if the waves have frequencies of 400 and 404 Hz, the beat frequency will be 4 Hz. There is a nice demonstration of this on YouTube from Columbia College, Chicago, using first tuning forks, then signal generators. The link is: 

http://www.youtube.com/watch?v=IYeV2Wq82fw

Another demonstration on YouTube is by Jeff Regester. This shows graphical representations of sine waves of different frequencies, plays the tones alone and together, when they generate beats. The link is:

http://www.youtube.com/watch?v=sTcSrPsuN7A
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